
Pre-tension is the amount of clamping force a tensioner can 
apply to the load and is provided by the chain or webbing 
tensioner mechanism. Some useful tips are: 

Different devices have different pre-tension 
Pre-tension is not the same as lashing capacity 
Select the correct LRG table based on pre-tension 
Poor clamping = poor pre-tension 

LOADING GUIDE P R E - T E N S I O N

R I S K S G O O D  P R A C T I C E

arrow-right

arrow-right

Note: This information is intended to provide general guidance only and does not constitute legal advice.
© Copyright National Heavy Vehicle Regulator 2023,  

creativecommons.org/licenses/by-sa/3.0/au

USING RATED EQUIPMENTUSING NON-RATED EQUIPMENT

CALCULATING PRE-TENSION REQUIREDGUESSING PRE-TENSION REQUIRED
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Lashing Capacity: 2.0 t
Polyester (PES) webbing
Length: 6 m

Manufacturer Name
Manufactuer Code

AS/NZS 4380
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EXCESSIVE WRAPS AROUND SPOOL MINIMUM ONE AND A HALF WRAPS 
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8 mm transport chain Turnbuckles 1,000 kgf
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Number of  
lashings

Lashing angle (from horizontal)

At least 75°

AE > 0.95

At least 60°

AE > 0.85

At least 45°

AE > 0.70

At least 30°

AE > 0.50

At least 15°

AE > 0.25
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Static friction: 0.6
Example:  Rusty steel on timber or smooth steel on rubber load mat 

(not conveyer belt)

1 5,700 kg 5,100 kg 4,200 kg 3,000 kg 1,500 kg

2 11,000 kg 10,000 kg 8,400 kg 6,000 kg 3,100 kg

3 17,000 kg 15,000 kg 12,000 kg 8,900 kg 4,600 kg

4 23,000 kg 20,000 kg 16,000 kg 12,000 kg 6,200 kg

5 28,000 kg 25,000 kg 21,000 kg 15,000 kg 7,700 kg

6 34,000 kg 31,000 kg 25,000 kg 18,000 kg 9,300 kg

7 40,000 kg 36,000 kg 29,000 kg 21,000 kg 10,000 kg

8 46,000 kg 41,000 kg 33,000 kg 24,000 kg 12,000 kg

9 52,000 kg 46,000 kg 38,000 kg 27,000 kg 13,000 kg

10 57,000 kg 51,000 kg 42,000 kg 30,000 kg 15,000 kg
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Static friction: 0.4 Example:  Smooth steel on timber

1 1,900 kg 1,700 kg 1,400 kg 1,000 kg 510 kg

2 3,800 kg 3,400 kg 2,800 kg 2,000 kg 1,000 kg

3 5,700 kg 5,100 kg 4,200 kg 3,000 kg 1,500 kg

4 7,700 kg 6,900 kg 5,600 kg 4,000 kg 2,000 kg

5 9,600 kg 8,600 kg 7,000 kg 5,000 kg 2,500 kg

6 11,000 kg 10,000 kg 8,400 kg 6,000 kg 3,100 kg

7 13,000 kg 12,000 kg 9,800 kg 7,000 kg 3,600 kg

8 15,000 kg 13,000 kg 11,000 kg 8,000 kg 4,100 kg

9 17,000 kg 15,000 kg 12,000 kg 9,000 kg 4,600 kg

10 19,000 kg 17,000 kg 14,000 kg 10,000 kg 5,100 kg
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Static friction: 0.25 Example: Smooth steel on conveyer belt

1 870 kg 780 kg 640 kg 450 kg 230 kg

2 1,700 kg 1,500 kg 1,200 kg 900 kg 470 kg

3 2,600 kg 2,300 kg 1,900 kg 1,300 kg 700 kg

4 3,500 kg 3,100 kg 2,500 kg 1,800 kg 940 kg

5 4,300 kg 3,900 kg 3,200 kg 2,200 kg 1,100 kg

6 5,200 kg 4,700 kg 3,800 kg 2,700 kg 1,400 kg

7 6,100 kg 5,500 kg 4,400 kg 3,100 kg 1,600 kg

8 7,000 kg 6,200 kg 5,100 kg 3,600 kg 1,800 kg

9 7,900 kg 7,000 kg 5,700 kg 4,000 kg 2,100 kg

10 8,700 kg 7,800 kg 6,400 kg 4,500 kg 2,300 kg
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Static friction: 0.2 Example:  Smooth steel on rusty steel

1 640 kg 570 kg 470 kg 330 kg 170 kg

2 1,200 kg 1,100 kg 940 kg 660 kg 340 kg

3 1,900 kg 1,700 kg 1,400 kg 1,000 kg 510 kg

4 2,500 kg 2,300 kg 1,800 kg 1,300 kg 690 kg

5 3,200 kg 2,800 kg 2,300 kg 1,600 kg 860 kg

6 3,800 kg 3,400 kg 2,800 kg 2,000 kg 1,000 kg

7 4,500 kg 4,000 kg 3,200 kg 2,300 kg 1,200 kg

8 5,100 kg 4,600 kg 3,700 kg 2,600 kg 1,300 kg

9 5,700 kg 5,100 kg 4,200 kg 3,000 kg 1,500 kg

10 6,400 kg 5,700 kg 4,700 kg 3,300 kg 1,700 kg
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For lashing L1

1) Forwards = Distance (F1) ÷ Length of Lashing (L1)
1) Sideways = Distance (S1) ÷ Length of Lashing (L1)

For lashing L2

2) Rearwards = Distance (R2) ÷ Length of Lashing (L2)
2) Sideways = Distance (S2) ÷ Length of Lashing (L2)

8MM TRANSPORT CHAIN, TURNBUCKLES

Excessive wraps 
around spool

One and a half wraps 
around spool


